%Lljll
I

FEHMN

1. ¥4
kB4 R HAT ) | BR TR AT GR A A B PR 3
BT BHEEATIEER 2 — 1 4 — 7/ @EHIEEEBFRLOZED
BN
. EBAE
1) FHEI4 BEHENEEE BT FsifkKeR
2) JBATHIM 365 HH H &% 64 47 1H
E S T4 3H31H

3) WErEMA

4) EHBNE

EtrEE T R



Q/Elljll
I

W4 | B BRI AR FTE BHE PR S ER i RWIEH IS
H B BEEAE
B E I % i 3 B {7 * & #A OB N R
[ERYN L =X 47, 525, 280
XYL =X 47, 525, 280
TR A R = 47,525,280 | FHAFRFHE R
12 7 A
B =X 1, 721, 520
[R5 = 1, 721, 520
R TR 2 1,721,520 | TEGIHESE HARE
1 =
EEFM (2 OMFEMmER<) = 49, 246, 800
Z OJFEAT = 15, 840, 175
— N E B = 35, 043, 025
SRS oy 100, 130, 000

EtrEE T R



